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1 AL (CER25%4AR1B81{7E)
mF = Bii:pP
W R (A) (B) (C) (D)=(B)*+(C) | (D) (A)
BIHH | BREEED BRESET | BRED-ET| EHE
_— F1R 418 0 418 418 100.0%
Fa2R 52 0 52 52 100.0%
F1R 717 0 717 117 100.0%
iE Fa2R 2,831 198 2,545 2,743 96.9%
FINX 2,471 632 540 1,172 47.4%
= g1r0un) 1,027 94 517 611 59.5%
F2R 2,277 0 0 0 0.0%
IFI 28 557 26 69 95 17.1%
_— FT1R 5,349 360 143 503 9.4%
F2R 2,863 0 0 0 0.0%
iRk i 2,430 74 103 177 1.3%
w ol FTIRX 900 168 4 172 19.1%
Fak 3,047 0 0 0 0.0%
% % FTIRX 2,161 298 5 303 14.0%
Fak 441 0 0 0 0.0%
A K FE1R () 1,893 27 0 27 1.4%
SERR23- 245 20,806 1,877 5,113 6,990 33.6%
SER25FE 8,628 0 0 0 0.0%
& &t 29,434 1,877 5113 6,990 23.7%
HE % BT :Km
HE 2 (A) (B) (C) (D)=(B)+(C) | (D).~ (A)
RIER | BREEED BRESET |BREHR-ET| EHE
X K B 40.0 0.0 40.0 40.0 100.0%
X R BE% 22.2 0.0 22.2 22.2 100.0%
BH& M(EFEE) BB
R 4 (A) (B) (B).” (A
RImEE SETHEE iy
XK (E1R 32,470 470 1%
iE F (1) 75,120 75,120 100%
HE i B{iI:ha
R 4 (A) (B) (B).” (A
RImE SETHEE HEHE
1 B 3th 2,030 2,030 100.0%
W ih 65 28 43.1%
X H 2,397 2,355 98.2%
pui I 1,184 863 72.9%




2 ANEWEER (ER25%4A18IRE)

B
£ = T

R 4 . - \
iiE EARG# i EAG#
-2k, B (AT EE) 99 252 99 252
REM AL BANEE) 75 85 75 84
IR AR AL MBS 32 34 32 34
N 451 451 265 265
B RS R i 24 25 21 22
FE MR, EH 9 11 9 11
Z OO I 49 53 40 44
& &t 739 911 541 712
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(A) (B) (C) (D)= (B)>+(C)

X A . : ;
EHEFE | BREREP | BREXT |RPER-ET
RRE 1 0 1 1
P i) 6 0 6 6
¥ E 11 0 1 1
ZE ¥ 5 0 5 5
B K 20 0 20 20
- 8 0 8 8
I {8 23 0 23 23
= HHE 1 0 1 1
B B 11 0 11 11
iR IR 17 0 17 17
/A | 17 0 17 17
g X 15 0 15 15
g = 5 0 5 5
B 8 0 8 8
= F 148 0 148 148




